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own words as far as practicable

lilustrate the answers wherever necessary
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GROUP — A o
1. Answerany five questions: 2x5

(@) What do you mean by sectoral composmon
of National Income ? 2

(b) What are the causes of low productivity in
Indian agriculture ? 2

(c) Mention fmrmajor]mbluns mihe agricultural
sector in India. 2

(d) What are the major characte;ristics of
Industrial Policy of 1991 ? 2

(e) What do you mean by "poverty line' ? 5

(/) Write two causes of income inequality in
India. 2

(g) Write two causes of unemployment in rural
India. 2

(h) What is the share of secondary sector in
India's recent GDP ? State two causes of its i
low share. 2
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GROUP —-B
Answer any three questions : 5x3
Describe briefly the extent of inequalities in
income distribution in rural India. | 5
. Discuss the role of Regional Rural Banks (RRBs)
in rural credit of India. 5

What are the causes of industrial sicktl}ess in
India ? . ' 5

Briefly discuss about recent agricultural credit
facilities in India. 5

. Discuss the causes behind privatising government

enterprises in India. 5
Explain how diversification of Indian industries
has increased after 1991. 5
GROUP -C
Answer any two questions : 10x2

Examine the effect of green revolution on
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agricultural production and income distribution
inIndia. : . = 345

Discuss the evolution of Rural Development
programmes in India after Independence. 10

Discuss the sectoral coniposition of national
income since 1980. ' 10

Discuss briefly the recent problems of micro,
small and medium enterprises in India. Discuss
the policies for facilitating these enterprises. 6 + 4

' SECONDHALF
[ Marks : 45 ]
( Indt‘an.Ecanomy -11)
GROUP - A
Answer any five questions : | 2x5

(a) What are the major sources of power supply
inIndia ? , 2

(5) What do you mean by 'social banking' ? 2
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(c) What are the principal sources of tax revenue
of Government of India ? | 2

(d) What is India's current fiscal deficit ? Why
is India trying to curb fiscal deficit ? 2

- {e) State two types of tax, which the State
governments in India can impose. Also state
two sectors where State governments can
spend autonomously. C1+1

(/) What do you mean by in-situ and ex-sxtu
development? 2

" (g) Name two programmes for enhancmg road
and electnclty connection in recent India. 2

(h) How does parallel economy function in
Indxa? : 2
GROUP -B
Answer any three questions : j 5%x3

2. Discuss the relationship between Economic
development and occupational distribution in India. 5
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What are the different environmental problems
arising out of economic development inIndia? 5

Discuss the policies adopted to spread education
and health facilities to all Indians. 5

Critically discuss the impacts of recent policies
_pf controlling black money. s

Discuss the impact of WIO on Indian
agriculture. o 5

s ,_'Critically analyse the reasons behind good
- performance of the telecommunications sector as

compared to other infrastructural facilities. 5
'~ GROUP-C
Answer any two questions : 10 x2

- Discuss the problems of unemployment in India

in the post-reform period. What are the measures
taken by government of India to solve the
problem ? 6+4

Describe the stn;ctn&e and dimension of foreign
trade of India since 1991. 10
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o 10. "Reform period experienced the Jobless growth
in India" — Justify the statement in details. 10

11. What is giobalisation ? What are its different
components ? What are the major arguments
supporting globalisation ? Do you support the
view that globalisation promotes a strategy of

export-led growth in place of import-substitution
strategy ? Justify your answer taking into
_consideration the Indiancase. - 2+3+2+3
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